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1. A Topic Sentence is a complete sentence; that is, it contains at least one subject and one ..............
a) adverb
b) adjective
c) verb v
d) pronoun
.............. 5 (subject) deld J8Y) e et Lil dlld Jiny 5443 Jle 4 (topic sentence) g s sall dlaa )
(adverb) J~ (a
(adjective) 4= (b
v’ (verb) =& (c
(pronoun) e (d
2. A topic sentence is the most general ................ in the paragraph
a) general
b) statement v/
c) specific
d) difficult

(paragraph) skl Jddaesec YL I . (topic sentence) & s sall dlea ¥

(general) o= (a

v (statement) s_ke (b
(specific) .= (c
(difficult) cxa (d

3. Driving on highways requires skill and alertness. The topic is

a) Driving on highways v/
b) skill

c) Driving

d) skill and alertness

................ s (topic) gsas<ll (alertness) oLkl 5 (skill) 3_leal zlind day yusll g ) gl & Balal) | ¥

v’ (driving on highways) 4= udl & ) $&l) & 3aLdl (3
(skill) 5l (b

(driving) s3ldll (c

(skill and alertness) sLi¥! s 3 el (d
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4. The rise of Hollywood films is due to several factors. The controlling idea is ..................
a) films
b) several factors v/
c) factors

d) The rise of Hollywood films

............... & (controlling idea) & ksl 5 Sill (factors) el se 2 casss Hollywood a2l dags €

(films) 228Y1 (a

v (several factors) Jalse 32 (b

(factors) Jels= (c

(the rise of Hollywood films) 25 sa a0 (2 s2a 5f) Lags (d

5. French has been influenced by other languages. This sentence is .................

a) specific

b) general

c) too general v
d) too specific

................. (sentence) iaall o2a 5 Al il (influenced) @ il A Jill 0

(specific) 4=la (a
(general) = (b

v’ (too general) I 4sle (c
(too specific) 1 4ala (d

6. The topic sentence is usually the ................. sentence in a paragraph.
a) firstv’
b) second
c) third
d) fourth
.(paragraph) akdl & ... Jldleallsale & (topic sentence) g sasall dea 1

v (first) sl (a
(second) 44 (b

(third) 435 (c
(fourth) 4=, (d
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7. Food safety is an important issue. This sentence is ..................

a) incomplete

b) too general v/

c) too specific

d) best topic sentence

................. Alaall o328 Aaga (issue) duzad sa (Y oladall Y

(incomplete) 4iSs ne (a

v (too general) lxa 4le (b

(too specific) s 4als (c

(best topic sentence) ¢ s e dlaa Juail (d

8. A topic sentence must be a complete statement with a (subject*) and a

a) anadverb
b) averb v

c) an adjective
d) an object

(subject) Jelé e Jailis (complete statement) 4l 3 e (585 () caas (topic sentence) g sa sall das A

(adverb) J~ (a
v’ (verb) d= (b
(adjective) 4= (c
(object) 42 Js2is (d

9. Students need to use specific details to be thorough and

a) apposing

b) boring

c) convincing v/
d) encoding

.............. 5 (through) 4 sedll dal (1 (specific) 4als (details) Jaaldi aladiny ¢ saliag 3l 4

(apposing) &4 (a
(boring) JW! (b

v’ (convincing) gLy (c
(encoding) &l (d
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10. We should .................. introduce a new idea in the topic sentence.
a) almost always
b) usually
c) always v
d) never
.(topic sentence) g sxasall dea 83331 (idea) 3058 (introduce) masi ..., Lide g Vs
(almost always) Lala Ly 3 (a3
(usually) 3de (b
v (always) Wil (c
(never) ax= (d
11. In order to achieve coherence, each ................... should flow smoothly into the next one.
a) phrase
b) word
c) sentence v/
d) letter
(smoothly) “udi (flow) Gl of asa e, JS ¢(coherence) ¢lulaill e (achieve) Gsiad dal e )
Leli A 8
(phrase) soke (a
(word) 4<IS (b
v (sentence) e (c
(letter) <~ (d
12. When you use pronouns make sure that you use the same person and ................. throughout your
paragraph.
a) line
b) place
c) time
d) number v’
4akadll (throughout) Jish ............... (*) i) (i axiiid Gf (e XU (pronouns) siledall aadind laxie )Y
.(paragraph)
(line) Lk (a
(place) o< (b
v (number) #&,(D (time) o) (c
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13. Words such as because of and in spite of are (considered to *) be .....................

a) adjectives

b) nouns

c) adverbs

d) prepositions v’

................. 23 (in spite of) "cw a2 " 5 (because of) "y Jie cilalSll Y

(adjectives) “laa (a
(nouns) sleud (b
(adverbs) Jissi (c

v’ (prepositions) <ss_~ (d

14, e, signals give a paragraph coherence because they guide your reader from one idea to
the next.
a) Traffic
b) Transition v/
c) Live
d) Stream
(59 (guide) 258 el casws (coherence) <lulai (paragraph) 4skdl s ... (signals) <l L) 1 ¢

Leali Al 5 ysall (jdea) 388 o« (reader)

(traffic) s« (a

v’ (transition) &yl (b

(live) 4 (c

(stream) 4dlsiall of 4y jladl i 53l (d

15. The word "if" is an example of ...................

a) subordinating conjunctions v’
b) conjunctive adverbs

c) transition phrases

d) coordinating conjunctions

1 Jlia o (if) "M AS Vo

v’ (subordinating conjunctions) ksl (gl §) ks (a
(conjunctive adverbs) 4 swase sl 4 shea Jisal (b

(transition phrases) 4as) &l jbe (c

(coordinating conjunctions) clxkalidll of Calasll Gusii (d
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16. "Neither ... nor" is an example of -

a) coordinating conjunctions
b) conjunctive adverbs

c) correlative conjunctions v’
d) subordinating conjunctions

.................. 1 b 4 (nor) s (neither) S N1

(coordinating conjunctions) clakl&ll sf Calaall 3usii (a
(conjunctive adverbs) & ga e i 43 shae Jsal (b

v’ (correlative conjunctions) a e sf Lyl yie cake (c
(subordinating conjunctions) —ehall gliad) sf a5 (d

17. You should put a comma ................ a dependent clause.
a) before
b) after v/
c) above
d) under
.(dependent clause) (A saa sall) dbuaiall g dajill dlaall (comma) dlalé i O asiy VY
(before) J2 (a
v (after) = (b
(above) 3 (c
(under) @3 (d
18. The same article said that the causes of inflation were easy to find .................. , the cure for

inflation was not so easy to prescribe.

a) therefore
b) however v/
c) for example
d) asaresult

A lede | siall Jeuws (inflation) aaaill (causes) <l of cd Al (article) Aad) ués VA
.(prescribe) —aa gl Sl Ll a3l (cure)

(therefore) nstly ‘;‘; ;ueu }i "f‘s L..)“‘" }i u‘gun_}u (a
v (however) "ol " 5l "elly o (b

(for example) "<lld JUa" ) "SEad" (¢

(as a result) < Aai€ (d
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19 e, order is order by time, a sequence of events or steps in a process. -N
a) chronological v’
b) astrological
c) biological
d) economical
<l shall i (events) Claall (e (sequence) Awulu (28 5l Cua (order) < s ..., Gl 4

(process) el & (steps)

v (chronological) < (a
(astrological) SW (b
(biological) s> ssal sl sl (c
(economical) b=yl (d

20. Every good paragraph has both unity and ..................

a) clarity

b) transitions
c) conjunctions
d) coherence v

Faagdl A 5 (unity) 35l e DS e (5 5ia3 () cang 33 (paragraph) 38 US|

(clarity) z =4l (a
(transitions) <Y&sy! (b
(conjunctions) <l (c
v’ (coherence) <l (d

21. Women live longer than men. This sentence is an example of ...................

a) facts v/
b) quotations
c) statistics
d) opinions

..................... J e o (sentence) deall 3 Ja 1) (e Jshal 3 55l (live) Cpdins ol

v’ (facts) &ilasll (a
(quotations) <LLEY) (b
(statistics) Clibasyl (c

(opinions) /)Y (d

AR
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22.1n 2003, 60 percent of identity theft victims did not notify the Police according to the FTC. This-w
sentence is an example of .........c.........

a) fact

b) specific supporting details v°
c) opinion

d) quotation

ada il (notify) &l | sa s ol (identity) 4sedl (theft) 28 (victims) LWlasa (e Al (8 (i (Yo 0V ale (4 YY
................ J Jle & Aleall 38 FTC dekaia )85 (according) —= (police)

(fact) 4assl) (a

v (specific supporting details) 4als dscly Jualsi (b
(opinion) ¢/ (c

(quotation) w<LEY) (d

23. Plagiarism is @ Se€rious ....................

a) offence v
b) source
c) defense
d) quotation

(serious) s/l ...l < (plagiarism) 4ua¥) 48 ) YY

Vv .asab gma Sl (offence) 3l (a
(source) Lx=as (b

(defense) gl (c

(quotation) 4.8 (d

24. To cite a source means to tell where you got the .....................
a) observation
b) information v’

c) abbreviation
d) explanation

...................... A dal ol e a3 o iy jaaad aggull Y

(observation) 4aa3k (a
v’ (information) 4« slxa (b
(abbreviation) _b=ial (c

(explanation) z_<% (d
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25, i, in works cited are used for website addresses. -m
a) Curly brackets{ }
b) Double brackets [[ ]]
c) Angle brackets< > v
d) Square brackets [ ]
(website) i yiY) a8l 50 (addresses) crstiall aadini (cited) 48 siall Sl & i, Yo

{ }(Curly) 4> s<dl) (brackets) L/ Y (a
[[ 1] (double) & 53 3a0l Gl £YV (b

v < > (angle) a3l w\jﬁiﬁ\ (C

[ ] (square) 4z all Gl 89 (d

26. According to is used to.........ccceeeeee.

a) introduce borrowed information v/
b) introduce old information

¢) introduce new information

d) introduce general information

................. (& a1 1a8 " el 5 (according to) soke Y1

v (borrowed) 3 xiss <l slas (introduce) a3 (a
(old) 43 (information) e slae masi (b

(new) 3aa Cilaslae 238 (c

(general) dxle Closlas a8 (d

27. A past tense reporting verb may cause changes in verbs, pronouns, and time expressions in ........

a) adirect quotation

b) asummary

c) anindirect quotation v/
d) areview

«(verbs) JadY) &y G L) (past tense) alall 4xua i (reporting verb) (Uay) s1) suoall Jad YV
.................. * (time expressions) <l ,ulais (pronouns) el

(direct quotation) rilw (uLBY) (3
(summary) 4= (b

v (indirect quotation) éle ne UBY (c
(review) d=al )l (d
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28. Including the source of the quoted information lets your (readers know*) immediately that your.
information is from ................... source. '

a) abad

b) acredible v/
¢) anunknown
d) an open

(your readers) <l Jzx (quoted) 4widall (information) <l sl=all (source) syas (including) ol (YA
................. Jdaa (e il gl o (immediately) 3_8lw O 58 2

(bad) s~ (a

v’ (credible) 355« (b
(unknown) Jse>= (c
(open) z s« (d

29. The lawyer said, "My client is innocent." This (sentence can be*) reported indirectly as in..............

a) According to the lawyer, his client could be innocent.
b) According to the lawyer, his client had been innocent.
c) According to the lawyer, his client was innocent.
d) According to the lawyer, his client is innocent. v/

e e JS 545 o (Sedd) e daall o8 "(innocent) s (My client) IS s<" (lawyer) (obaall J& Y4
.................. s S (reported indirectly)

s (could be) s o (Say alS 50 (i alaall iy (3
s (had been) 13 Y5 S 418 se (18 alaall g (b
s (Was) OIS 48 50 b aladll lay (c

Vo A 4 sl (d

30. An essay is a piece of writing about ....................

a) one topic v’
b) two topics
c) three topics
d) four topics

................... e (piece of writing) 4 5%« dakad _a (essay) Al ¥

v 2l (topic) g 2 (a
Olesase (b
gl se day )l (d
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31. The purpose of a thesis statement is to state the main idea of the .................... -\—I
a) phrase i
b) sentence
c) essay v
d) word

main ) 4w ) 3 Sdl (state) sae s (thesis statement) 4a sk (O 51) 35ke (e (purpose) waadl 1)
................... J (idea

(phrase) 3Ll (a

(sentence) sl (b

v’ (essay) 4kl (c

(word) 4181 (d

32. The conclusion is a summary or review of the main points discussed in the ...................

a) body v

b) outline

c) topic sentence
d) thesis statement

438Ul (main points) 4w i L (review) 42l 3 5l (summary) 4=3a 4 (conclusion) dailall Y'Y
................... I 4 (discussed)

v (body) el (a

(outline) dxslu¥) Lo shaall (b

(topic sentence) g sasall Aas (c
(thesis statement) 45 kY 3 ke (d

33.inafunnel .....cccouunnnnns each subsequent sentence becomes increasingly focused on the topic until
the last sentence.

a) introduction v’
b) paragraph
c) statement
d) conclusion

(until) &> ddea JS ¢ smgall e (increasingly focused) S8 & (funnel) axadll ... &Y
Alaa AT Y Jgaasl

v (introduction) 4«3l (g

(paragraph) &_2ll (b

(statement) 3oLl (c

(conclusion) &l (d
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34. Body paragraphs are the place to develop your topic and provide your ...................

a) cohesion
b) points v/
c) strength
d) unity

a5 ¥ 5 (your topic) <le s e (develop) skl il Gl & (body paragraphs) 4w il &l sl | ¥'¢
................... = (provide)

(your cohesion) <Sulsi (a
v (your points) <llals (b
(your strength) <lig (c
(your unity) <alsi) (d

35.The ..ccoeuvvveeenn. of a logical division essay often indicates the number of subtopics.

a) content
b) thesis statement v
c) structure
d) supporting details

doe all aual gall 222l (indicates) Leds Wle (essay) Jaadl (logical division) (sikiell awdill & ..., Yo
.(subtopics)

(The content) s sisll (a

v’ (The thesis statement) 4a 5 LY 5 e (b
(The structure) <&l (c

(The supporting details) 4xe)all Jualall (d

36. I'm going to write about sports injuries. The problem with this (*) statement is that it is ..............

a) an announcement v/
b) too general

c) too specific

d) stating on obvious fact

Ll (statement) 4leall 038 dlie (sport injuries) duab )l Glla! e LUK o g8l o Bl ¥

v’ (announcement) ¢>e) (a

(too general) I 4de (b

(too specific) la 4als (c

(obvious) 4 (fact) 42as (stating) LY (d
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37. An outline not only organizes your ................ , but it also keeps (you on*) track once you begin?(()n
write. i
a) time
b) thoughts v/
c) books

d) dependent clause

ke (keeps you) <liss Lad Wil s oo, (organizes) it o s Laié ud (outlines) dsulu) o shaall Y'Y
.(to write) LUSW (begin) fai Lexie msall (track) L)

(your time) <l (a

v’ (your thoughts) ¢\l (b

(your books) <liS (c

(your dependent clause) 4 swa sall 5 dlaiall 5 dayill clilen (d

38, i, is a way of organizing ideas in the order of their occurrence in time.

a) chronological order v/
b) logical division

c) cause and effect

d) narrative essay

4 (occurrence) agi s Julus o (idea) JSEYI (organizing) <l (way) 4 skh s e YA
gl el

v' (chronological order) 3l s A3l (a

(logical division) ibidl awdill (b

(cause and effect) cuwall s cuandl (¢

(narrative essay) 2~ Jis (d

39. An essay which is ordered chronologically, can be considered a

a) adescriptive essay

b) an argumentative essay
c) acomparison essay

d) aprocess essay v’

..................... (considered) iz o} (Sadll (1« (chronological) e ) i sall (essay) Jadl ¥4

(descriptive essay) &as Jia (a
(argumentative essay) > Jis (b
v (process essay) dlee Cay Jio( d (comparison essay) 4kl Jia (c
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40. In order to be successful writing chronological essays, you need to group the .......ccccceeeeeen..n. in?oq_
paragraphs where natural breaks occurs. -
a) styles
b) outlines
c) steps Vv

d) organizations

zlis3 ¢(chronological essays) Lie ) dluluiall CVE) AU 3 (successful) zab gt Of (in order) dal o L€+
natural) bk Jual ¢ Ldadi Cua (paragraphs) <&l (into) Jals (groups) e saas A e, Jzal
.(breaks

(the styles) <lawssill (3

(the outlines) ulu¥) Lashall (b
v (the steps) @l shall (c

(the organizations) <lekill (d

N R 1 [ , a short paragraph often separates one major section from another major section.

a) functional organization
b) spatial organization

c) block organization v/
d) logical organization

=l (section) duad JS o (separates) Juall Wle (short) 3_sai (paragraph) 58 ¢ ...........c........ o
A5 (major)

(functional) J=dll 5 Jleall (organization) il (a

(spatial) S8l adasill (b

v (block) e ganall Gh e ﬁm\ (c

(logical) ihiall abaitll (d

42. The type of cause/effect organization you choose depends on your .....................

a) organization
b) topic v’

c) style

d) paragraph

................. ke (depends) «ix: (cause/effect) cumall s cundl casi 5i g il e i) (type) g5l Jkaa) €Y

(your organization) <lwkhil (a
(your paragraph) <t s (b (your style) <lawssi ( ¢ v (your topic) &e pa 5 (b
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43. The block pattern is usually .................. with larger, complex topics such as global warming or
homelessness. i

a) easier
b) harder v/
c) clear
d) improved

38l Jia (complex) el s 5SY) ancal sll aa oo, OsSesaall 8 (block pattern) <ile sasall Jaad €Y
.(homelessness) 2l sl (global warming) s ) all psliay)

(easier) Je~! (a
v’ (harder) wal (b
(clear) z=ls (c
(improved) {&as (d

44. As a result of is different from as a result because it (*) noun phrase and introduces a ...................

a) clause
b) verb

c) adjective
d) adverb

5 (noun phrase) dsew! dlea (oadls LS s 22 51) Lel s (as a result) 3ke oo 4dlids (as a result of) ke L€
................... (introduces) @i

(clause) e (a
(verb) J=¢ (b
(adjective) 4= (c
(adverb) J~ (d

45. you should use a variety of cause/effect .................... (e.g. as a result) to help your reader follow
your ideas.

a) sentences

b) styles

c) signal words v/
d) paragraphs

as a ) Jis (cause/effect) casall s sl L O (variety) Adlisa g i aladiul e (should) (o . €0
&Sl (follow) daie e (your reader) <) (help) 2=l S (result

(sentences) Js> (a
(paragraphs) <l s (d v (single words) 3_LaY! <llS(c (styles) ©lawsdi (b
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46. A ................ is a group of related sentences. -LD
a) paragraph v’ i
b) phrase
c) clause
d) syllable
.(related) 4kl il (sentences) Jasll (= (group) 4e sase (A Lo, 41

47.

48.

v’ (paragraph) s_sll (a
(phrase) 3, (b
(clause) 4> 3kl (c

(syllable) 5l ahaia (d
A paragraph discusses ...................

a) usually only one main idea v/
b) usually only two main ideas
¢) usually only three main ideas
d) usually only four main ideas

................. (discusses) Uil (paragraph) s_adll £V
v Al saal 53 Sl 4 (3
Ol (5,88 53 8 (b
Gl Sl 2306 50l 3 (¢
fpld sl 2y i 32l 3 (d

We mark a paragraph by indenting the first word about a half ..................

a) meter
b) inch v/
c¢) millimeter
d) centimeter

................. Caai sl 4l J5Y (indent) Al Aluall i ok e (paragraph) sl (mark) sdi sl €A

(meter) s (a
v (inch) &) (b
(millimeter) sk (c

(centimeter) _fieiiis (d
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49. All Paragraphs have a topic .................. o |
a) phrase
b) word
c) sentence vV’
d) letter
.(topic) g sl ... 8 (paragraph) 38 JS €4
(phrase) sk (a
(word) &S (b
v’ (sentence) e (c
(letter) <~ (d
50. The .ccccvvvrrrrreeee. sentence signals the end of the paragraph and leaves the reader with important
points to remember.
a) topic
b) middle
c) first

d) concluding v’

)@ aa (leave) 455 (paragraph end) 38l Algs N (signals) s oo, (sentence) e .0+
.(remember) W _S3 (important points) degell Ll (reader)

(topic) g sl (a
(middle) sl (b

(first) 4y (c

v (concluding) dxlall (d

. .

vy

2ol 5 Bl a5l
Olis 9 8Lkl 1 @S3lgs
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